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1.  Provide a short answer to each of the following (sometimes even one word):

a.  Of the four dates associated with dividends that were given in the notes, which comes last?  

payment date [+10]

b.  What typically happens to a stock’s price on the ex-dividend date?  

falls [+8] by amount less than dividend [+2]

c.  What type of firm will likely benefit the most from increasing debt in its capital structure as a result of the debt helping to resolve stockholder/manager conflicts?  firms with high [+8], stable [+2] cash flow

d.  What do we call the debt contract?  indenture [+10]

e.  Under which type of stock offering are current stockholders more likely to be able to purchase additional shares being issued by a firm? rights offering [+10]

2.  The signaling and stockholder/bondholder conflict theories both predict that when a firm announces an unexpected increase in dividends that the stock price will rise.  How do these theories differ?

3.  Go Incorporated’s stock currently sells for $45 per share but plans to repurchase 200 shares at $58.50 per share.  Go’s current stockholders and their stock holdings follow:

Stockholder
Number of Shares
Janice
500

Philip
1000

Justin
100

Patricia
400

a.  How will Philip’s wealth be affected if the firm repurchases shares via a tender offer?  Note:  Assume that partial shares cannot be sold.

b.  Suppose that rather than repurchasing shares through a tender offer, Go repurchases shares by issuing one transferable put right for each outstanding share.  What is the value of each of these puts?

c.  Show that Philip’s wealth is unaffected by the repurchase if he exercises 60% of his puts and sells the rest.

4.  At a stockholder’s meeting, the Chief Financial Officer (CFO) of Really High Tech Inc. stands up to state that the firm should issue more debt and use the proceeds to repurchase some of the firm’s outstanding shares.  To justify his recommendation, the CFO states that because of the corporate tax code, the firm saves $0.35 in taxes for every $1 the company pays in interest.  Limiting your discussion to tax issues, what might you say to call into question the CFO’s conclusions?

Answers:

1.  a. payment date [+10]

b.  falls [+8] by amount less than dividend [+2]

c.  firms with high [+8], stable [+2] cash flow

d.  indenture [+10]

e.  rights offering [+10]
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2.  1)  Differs in rationale for increase in stock price

a)  signaling => dividend acts a signal [1] of management's [1] optimism [1] about the firm's future [1] earnings [1].  As a result, stockholders revise their expectations [1] upwards.

b)  stockholder-bondholder conflict => stockholders gain at the expense of bondholders [5] due to dividend

2)  Differ in response of bond prices

a)  signaling => bond prices should rise [5]

b)  stockholder-bondholder conflict => bond prices should fall [5]

scale [checks = points]:  20=50, 16=48, 15=47, 14=46, 13=45, 11=44, 10=42, 9=40, 8=38, 7=36, 6=35, 5=34, 4=33, 3=31, 2=29, 1=25

3.  
a.  
Before:  wealth = 1000 x 45 = 45,000 [+4]

After:  
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=> wealth = 57(58.50) + (1000-57)43.50 = 44,355 [+9]

=> gain = 44,355 - 45,000 = -645 [+4]

b.  # of puts = 
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c.  wealth = 
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4.  a.  can only deduct [4] the interest if sufficient earnings

=> if chance that can't fully deduct interest due to expected losses [4] or volatile earnings [4], then expected tax savings at the corporate level are less than $0.35 [2]

b.  If debt income is taxed at a higher rate than equity income [4] (at the personal level), then by increasing debt, the personal taxes [4] increase [2].

=> should only issue debt until the expected corporate tax savings equals the expected increase in personal taxes [2]

Note:  under Miller's analysis, TB = TC [2] in equilibrium [2] so that no gain from leverage [2] due to taxes.

Note:  reasons that equity returns may be taxed at a lower rate:

1)  part of stockholder returns are in the form of capital gains which are not taxed until realized [1] and then are taxed at a lower rate [1]

scale [checks = points]:  20=50, 18=49, 17=48, 16=47, 14=46, 13=45, 12=44, 10=42, 8=40, 7=38, 6=36, 5=34, 4=32, 3=30, 2=28, 1=24
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